A) 
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Find the x coordinate [image: image2.png]Lem



of the center of mass of the system of particles shown in the figure.

 

  

Express your answer in meters to two significant figures.

Top of Form
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Bottom of Form

B) A straight rod has one end at the origin and the other end at the point [image: image5.png](Z,0)



and a linear density given by [image: image6.png]
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is a known constant and [image: image8.png]


is the x coordinate. Since this wire is not uniform, you will have to use integrtation to solve this part. Use [image: image9.png]


to find the total mass [image: image10.png]
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for this rod.

Express your answer in terms of one or both of [image: image12.png]


and [image: image13.png]


.

Top of Form
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Bottom of Form

